= A
N = 0] &F AF S & AN A
20219 = 20 M sHEASKH SY3AH &A
SN SYHHI
HE: 59 FMY L
S SEASKNEN2 N (SHEASIH S€3H) (2 &HH)
- _ _ RE]
SA BB (SH) - HRAY - B Ol At o %@ﬁ HRE2
Eopea PSS 1,345,970 2,651,568 N 1,305,598
S WA 4G 1,345,970 1,651,568 A 305,598
SEASENIAN2 N (sHEASAE SEEH) 1,345,970 1,651,568 A 305,598
SHEASXIA XS CI2tE X 1,325,348 1,625,524 A 300,176
307 gizto| A 5,348 5,524 N 176
08 OIXIE & 2 5,348 5,524 N 176
OsHEASXNE X2 OINEN
1,069,470,000& *0.5% 5,348
501 A2 1,320,000 1,620,000 A 300,000
01 212t X2 1,320,000 1,620,000 A 300,000
OsHEASKAIIZ SN
30,000,000 *44= Ot 1,320,000
SEAEXNSENNZ g2 7,351 7,110 241
201 LBt Y| 5,351 5,110 241
01 AP 22| d| 3,500 2,500 1,000
OANREE & T2HARZE 500,000 x73| 3,500
02 222%4| 1,851 2,610 AT759
OLH g2 (et S5 5) 1,851
— Bt 380 *2,00021 760
— S| 2,570 x40024 1,028
— b 1,800& »35A 63
202 044 2,000 2,000 0
01 2Ll 2,000 2,000 0
OsHE ASKNIIXNS M &=t SISE
2,000,000& 2,000
ol g1 4] 13,271 18,934 N5,663
801 ollgldl 13,271 18,934 N5,663
01 LBhol gl gl 13,271 18,934 N5,663
oolBlgl s 13,271,000& 13,271
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